Best model for HELP J142929.383+342215.171 at z = 0.824 x2=19.89
OPTx2=24.08 IRy?=2.57 threshold (OPT IR)=14.59 [um]

Stellar attenuated
fffff Stellar unattenuated
1 1 —— Dust emission
10 3 —— AGN emission
] = Model spectrum
® Model fluxes
0 ) M oObserved fluxes
107 5
E ]
S
Z 10-1
= 10 u
E il o hm
T L -
1072 Jymt oy
>;LO‘3 E
=) ]
= 1 ]
= ] ==f=(Obs-Mod)/Obs
S ]
-'9 1 et
7 ]
o 0f--y-q4----- RS el o L L L L L P PPt
o ]
) ]
2 ]
E—l R | UL R | UL LR | T
& 10° 10! 102 103 104

Observed wavelength [um]

CiGAL



